[ Answer and solution )
1. [Answer] D

[Solution]  * f'(x)=10(1-2x")’-(=6x%), .. f'(x)],_,=60.
2. [Answer] A

[Solution] * f(x)=2Inx—x’ the domain of the function is (0, +OO) ,

h2
thenf'(x):z—2x=2 2x ,
X X

2 2-2x°

Because f (x)==—2x = >0,
X

sox’ —1<0 , meaning that0< x <1

therefor the solution to the equation is (0,1), the answer A.

3. [Answer] C

[f##T] For option A, (3)62 +cos x) = 6x —sin x correct, so A is correct . For option B,

' 1 . ,
(lnx— ZX) =——2"1In2is correct, so B is correct. (2sm 2x) #2c0s2x, so C incorrect.
X

= 3 is correct, so D is correct.

X

) sin x Xcosx—sinx .
For option D, =
X

4. [Answer] D

[ Solution] = _—
outiond ¥ x*+3x-8 (x* +3x-8)°

5. [Answer] B

[Solution] - £ (x)=x"+3xf (2)+Inx

) =243 (2)++
X

Let x=2, thenf'(2):4+3f'(2)+%,

then 21 (2) :_% ;



9

(2= K the ansiwer is Do
6. [Answer] D
. _ x+1 2 .
[/##r]1 From the equation of y = —— =14+——, we can know that y'= -
x—1 x—1 (x-1)
: \ 1
Therefore the slope of tangent linek = y'| ;= 5
Therefore the slope of ax+y+1=01is 2, so—a=2, meaning that a=—2,
7. [Answer] A

[Solution] "y =log,cos’ x,

1 :
S y'=———log,e-2cosx(—sinx)=-2tanx-log, e .
COS” X
8. [Answer] y=1

[Solution] (sinx)'=cosx, k=y'| =0, then tangent line y=1.

9.

2
[ Answer] 1

[Solution]  y'=212x+a)-2=4(2x+a)=20, thenx=2, anda=1.

10

I1.

12.

13.

. [Answer]

3x*sinx—(x’ —1)cos x

— »  2sin(2x+5)+4xcos(2x +5)
sin” x

’

[ Solution] (

x -1 ,_3xzsinx—(x3—l)c0sx_

sin x sin” x
[2xsin(2x+5)] =2sin(2x +5) + 4xcos(2x +5)

[Answer] (—2, 15)

[Solution] y'=3x"-10, 4 y'=2=x"=4,

P is in the second quadrant=>x=—2=P (—2, 15),
[Solution] f'(x)=-sinx, g'(x)=1,
then—sinx+1<0, sinx>1, meaning thatsinx =1.

x=2k7z+%(keZ) o

[Solution] (1) »'=(sin’ x)'+(sinx’)'=3sin” xcosx + 3x” cosx” ;

(2 ) =100+ 1+ 22 )P (x+ 41+ 1)’



14.

15.

1
=10(x +V1+x*)’ 1+%(1+x2) 2 -(l+x2)}

A
=10(x+1+x%)’ 1+%(l—x2) 2 -2x}

=10(x +V1+x° )9[(l+x(l+x2)_%] ,
1. 10

.'.f'(1)=10(1+\/§)9(1+ﬁ)=$(l+x/§)1°,
10 10
22 (1+42
,_f'(l)zﬁ“f) s/
f 1+42)°
] B 282 " 3+2x
[Solution] y=CBx+x")", N y'=-2 Gx+x2)
T I
y|x:l_ 2 43 32 °

. The tangential equation ¥ — - = > (x 1)
. € tangential equation y — — = ——— —
16 32

HI 5x+32y-7=0.

[Solution] ** f(x)=xInx+ lex2 ,
X

thenf'(x)zlnx+x-l+(—x_2)e’r2 +l-e)‘2 -2x:1nx+1—izex2 +2¢%,
X X X

g(x):lnx+1—%ex2 +2¢",

g'(x)Zl—(—ZL}-exz+L2-e)‘z-2x)+2e)‘2-2x:l+2e3 ¢
x x x X x x

2
dxe* ,

so G(x) =l+(£—%+4xjex2 ,
X X

3
X

G‘(x):—i+(—£+4+%)ef +(3—3+4x}x2 2x
X

2
X






